PRAFFAFIHFRECFRAPH A SE 5

111 # 8 7 29 p M™% 2 =48 12 111-1-1 Fadh € Bt il 6

!

P RAFMTHAEAMOE FI R ECKEET 2 3 E LT e Y R
2 @3 > PR3  ~ Bk (Massive Open Online Courses, #f A MOOCs) %
BIEFAREZH BT RH LB R AR ER KT FThOE* IR A KE LT
BB Ak FRTIATES o

=~ AR R T 2 BrkET o AR f/“‘f%?iﬁ'ﬁié%ﬁi;)i?’i“&f@‘%?i%’*’? -

é,h FHEDI IO AHZKERY T AFEKREF 61 18 FER

Bl s 5 33k BRI E T Y SR 2L AT o

CERAT R RO f R IR R N RE 2 R Bere KA 2 Bk R R
RE FE AR > 3T AGRT 2 0T LB R B 2 AR REF o

BT ER T 5o 5080 T Bk M R e

0

(- JBIERE F 2352 | ARl A2 - R BIERYE  BRFIA
PFRGEF MR 5 3 R RT IV B FRBIERE T SRS
TP R FRIERF R R, 2 TP R FRERTHAETER R ¥
gt B R 2 AR o

(VR HCR RIS S A HRE R R R 2 g
BOH R AL B RE TR R R R
BT E > PRSP RO B T Bk R

()8 T ok P RRD AR 2 g Y T o séﬁi@‘i*#’xp%%ﬁ’ "
B+ B —\‘,}%xﬁzg 4N g 4 pl:?rg = wajg Bl “ 3‘;3 3 J_Edfg_ﬁ'l_ FE*I;%fE

Isq
/

Ei=a E R R ter) %Kﬁzf* AR 3 R 2 BT AR 0 R P AR T
R R EH O E L ERRT B8NS ’f%p %ﬂ—%lﬂé’%* CAR= i1
B AL R Geftded waﬁ o Y R SRR 4B B2 A
ww’k—W%ﬁﬁ%—ié%%%ﬁ?%?%i%ﬁ’m?@%iﬁﬁﬁﬁ
LA Bs)

Aos PR A RT IE AR N RE D R F e KA B 2 B ikET B EEAR 0 R T 7
)5 R AT D (B 5 R R N DA B 0 A A )

(= )71~ e d Pizt ™ B 5 M CRIERE e R Fr ik Ak
FFis 0 P 0 Fr R E G AR L ATSR B o

(Z)HABEA I E BT F 2 R E 7 2540 Pt 5 d o
,\/,_QFE‘?]E;":; ];:]Kﬂ_ﬂ; &%szﬁ_‘ir}/‘z%ﬁ;o

(CORHB AT 5 PR foh Rlf 2 S0P B @4f 051 3 priic> 1 i
FERE P TRAEE K HRII(F R LERE T REH
B B RIE R A A A EL) o

(E)FAEY BB R ARRT 2 FP T S0P KEREY
J*“%ﬁﬁﬁﬁﬁu”?%‘ﬂ%iﬁifﬁﬁﬁ‘iﬁﬁéﬁo



Iq

MB

LEPN 2 & pEEakpF T 5 B (F X Brr):
P RS {éf%ﬂ] P RS lﬁﬁ%ﬁ]
WAREF F () HALEE R ()

200 4 11 5.000 100 x ¥ 5,000

’ 100-200 + 6,000
201-300 * 6,000 201-300 * 7,000
301-400 * 7,000 301-400 * 8,500
301-500 < 8,000 301-500 + 10,000
501-600 10,000 501-600 * 12,000
601-700 * 12,000 601-700 * 14,000

2R BT SR KB ID) I E Y AL A A F B = B

¥ A F HAREH B (& )/4 ¥
P GG ¥ ZARK
200 A 27T 10,000 6,000
201-300 ~ 12,000 7,000
301-400 # 14,000 8,000
301-500 * 16,000 10,000
501-600 + 18,000 12,000
601-700 * 20,000 14,000
AN BRBIEHRA N ARBEAGFE AFRPN C FF 2 BERBIEFY -
BB =X ARG P () E L
P S 3
10 £ 3,000
11-20 4 5,000
21-30 A 7,000
31 ¢ 10,000
4. B e R RO BE AR | Y AR R AR 1 B R 2 B GE
EEY -
B B = HAREY ¥ (R)/F Fi=x
EUE S CAP R S B
1-5 4 10,000
H4r 1 A 1000 = _+¥2.25,000

SRR AR KT B SRS P 0 S BRI OB LY

Sy
T A o
AL EAERED

A BA

# kiR KT

MR Y

FRALE TR ER

HE R R BT EE 2L F 0 B



